

$$y'' + \frac{1}{1-x} y = 0 \quad y = \sum a_n x^n$$

$$\sum_{n=2}^{\infty} n(n-1) a_n x^{n-2} + \sum_{n=0}^{\infty} \left(\sum_{k=0}^n a_k \right) x^n = 0$$

$$\sum_{n=0}^{\infty} \left[(n+2)(n+1) a_{n+2} + \sum_{k=0}^n a_k \right] x^n = 0$$

$$a_0 = 1$$

$$a_3 = \frac{1}{6} \left(\frac{1}{2} \right) = \frac{1}{12}$$

$$a_1 = 0$$

$$a_4 = \frac{1}{12} \dots$$

$$a_2 = -\frac{1}{2}$$

$$y'' + p(x)y' + q(x)y = 0$$

$$(n+2)(n+1)a_{n+2} + \sum_k p_{n-k}(k+1)a_{k+1} + \sum_k q_{n-k} a_k = 0$$

$$\begin{aligned} y' &= \sum n a_n x^{n-1} \\ &= \sum (n+1) a_{n+1} x^n \\ y'' &= \sum (n+2)(n+1) a_{n+2} x^n \end{aligned}$$

claim If $|p_n|, |q_n| \leq C_1 \rho^n$ then $|a_n| \leq C_2 \rho^n$

pf By induction. No issue for a_0 & a_1 . Then

$$a_{n+2} = \frac{-1}{(n+1)(n+2)} \sum_{k=0}^n \left[(k+1) p_{n-k} a_{k+1} + q_{n-k} a_k \right] \quad \text{so}$$

$$|a_{n+2}| \leq \frac{1}{(n+1)(n+2)} \sum_{k=0}^n \left[(k+1) |p_{n-k}| |a_{k+1}| + |q_{n-k}| |a_k| \right]$$

$$\leq \frac{C_1 C_2}{(n+1)(n+2)} \sum_{k=0}^n \left((k+1) \rho^{n+1} + \rho^n \right)$$

— 1 1

$$\leq \frac{1}{(n+1)(n+2)} \sum_{k=0}^n ((k+1) \rho^{k+1} + \rho^k)$$

$$= C_1 C_2 \left(\frac{1}{2} \rho^{n+1} + \frac{1}{n+2} \rho^n \right) \leq$$

FAILS!

$$y' = 10y \quad (n+1)a_n = 10a_{n-1}$$

$$a_{n+2} = \frac{-1}{(n+1)(n+2)} \sum_{k=0}^n [(k+1) p_{n-k} a_{k+1} + q_{n-k} a_k]$$

Claim If $|p_n|, |q_n| \leq C_1 \rho_1^n$ & $\rho_2 > \rho_1$, then

for some C_2 , $|a_n| \leq C_2 \rho_2^n$.

PF By induction.

$$|a_{n+2}| \leq \frac{1}{(n+1)(n+2)} \sum_{k=0}^n [(k+1) |p_{n-k}| |a_{k+1}| + |q_{n-k}| |a_k|]$$

$$\leq \frac{C_1 C_2}{(n+1)(n+2)} \sum_{k=0}^n \rho_1^{n-k} ((k+1) \rho_2^{k+1} + \rho_2^k)$$

$$= \frac{C_1 C_2}{(n+1)(n+2)} \sum_{k=0}^n \rho_2^{n-k} \left(\frac{\rho_1}{\rho_2} \right)^{n-k} ((k+1) \rho_2^{k+1} + \rho_2^k)$$

$$= \frac{C_1 C_2}{(n+1)(n+2)} \rho_2^n \sum_{k=0}^n \left(\frac{\rho_1}{\rho_2} \right)^k ((n-k+1) \rho_2 + 1)$$

Want: $a_{n+1} \leq \left(\rho_2 + \frac{C}{n} \right) a_n$